
Answers

A10 Schofield & Sims

6.	� (perpendicular lines sit at right angles to  
each other)

	 a)	 4	 b) 4	 c) 1 

7.	 a)	 �bar drawn showing 5 (the total already  
in the bar chart is 80 so 5 are missing)

	 b)	 20
	 c)	 egg

8.	 a)	 20p (80p ÷ 4)
	 b)	 40p (80p ÷ 2)
	 c)	 20p (20p + 40p = 60p, 80p − 60p = 20p)

Section 2 Test 11 (page 26)
1.	 a)	 6
	 b)	 12
	 c)	 4
	 d)	 60
	 e)	� (1 mark for each correct row. Max. 6 marks. 

Remember that each image is worth 4 
children and half an image is worth 2 
children.)

2.	 a)	 149
	 b)	 176
	 c)	 47
	 d)	 84
	 e)	 100
	 f)	 11

3.	 a)	 06:13
	 b)	 14:06

Section 2 Test 9 (page 24) continued

4.	 22 (16 × 1 = 16, 3 × 2 = 6, 16 + 6 = 22)

5.	 £3.20 (32p × 10 = 320p, 320p = £3.20)	

6.	 a)	 232
	 b)	 178
	 c)	 215
	 d)	 120

7.	 a)		  b)	

8.	 �150 min or 21
2 hr (15 min each way = 30 min 

a day. 30 min × 5 school days = 150 min = 
21

2 hr.)

9.	 6 (18 ÷ 3)

10.	 �180 hr (there are 5 school days a week so  
6 hr × 5 = 30 hr a week, 30 hr for 6 weeks  
= 30 hr × 6 = 180 hr)

Section 2 Test 10 (page 25)
1.	 a)	 15 seconds
	 b)	 3 minutes
	 c)	 3 months

2.	 a)	 £1, 50p, 20p, 20p, 5p, 2p
	 b)	 £2, 50p, 20p, 10p, 2p, 2p

3.	 �300ml (100ml ÷ 2 = 50ml, 200ml ÷ 2 = 
100ml, 300ml ÷ 2 = 150ml. 50ml + 100ml  
+ 150ml = 300ml)

4.	 a)	 450, 500 (+ 50)
	 b)	 900, 1000 (+ 100)

5.	 a)	 1
	 b)	 100
	 c)	 10
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Pizza  

Fish and chips    

Stir-fry      

Curry    

Chicken salad  

Roast beef      
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